Name _________________________


My Life’s a Circle

Matter Cycles – the movement of _____________ materials from the atmosphere or soil into living _________________ and back again.

Water Cycle
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_________ - liquid to gas


_________ - gas to liquid


Organisms return water to the



Atmosphere through 



________________,



______________,  and



_________________

Carbon/Oxygen Cycle
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Photosynthesis – plants use _______


And release _______

Respiration – plants and animals


Use _______ and release ______

Burning of _______________ increases

 
The amount of _______ in the


Atmosphere.  This may be increasing


The temperature.  (______________ effect)
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Nitrogen Cycle

Nitrogen is necessary to make


 _______ ________.

Nitrogen _________ is done by


Plants containing rhizobium bacteria.

____________ is the returning of nitrogen


into the atmosphere


Population – a group of individuals of the same ________________ that live in the same _____________ at the same ____________.


Population growth rate = ________________________

Biotic Potential – the rate at which a ____________ will grow if all individuals ___________ and ____________ at maximum capacity.


Growth Curve


Lag Phase – 

Exponential Phase – population ___________ in a specific time interval and keeps ____________ in increasingly shorter periods of time.

Carrying Capacity – the __________ number of individuals that the ecosystem is capable of ______________.


Limits to Growth



Density-dependent factors – as the __________ changes, these factors change

Density-independent factors – factors that affect population that have nothing to do with ____________

Oh Deer!

Construct a graph showing the changes in the deer population from the activity.  Then answer the following questions:

1. What were the three factors that affected the survivability of the individual deer?

2. Is the deer population constant through the years?  Why or why not?  

3. Interpret your graph and explain how the deer population is affected as the years go by.

4. Predict what would happen to the deer population in Utah if one year was a year of normal rainfall and the next was a severe drought.

5. What is the definition of carrying capacity?  From your graph what do you think the carrying capacity of the deer is?

Succession – the gradual, _____________ replacement of _______________ in an area

Pioneer Species – the first _________ to colonize an area

Seral Community – intermediate ________________

Climax Community – a community that will remain ___________ as long as it is left undisturbed

Primary succession – the sequential ____________ of populations of an area that has not previously supported _____________



Example:

Secondary succession – the sequential ____________ of populations in ____________ habitats that have not been totally stripped of soil and vegetation.



Example:


Old field succession – 

Succession in lakes – the transformation of ______________________________ to dry __________


Eutrophication – an increase in the amount of ________________ in an environment

Oligotrophic – a lake that is so low in ____________ that few organisms can ______________ in it.


Eutrophic – a lake with many _____________ in it.






























































































All My Life’s a Circle Page 3

